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QUESTION 1

You have two microservices, A and B running in production. Service A relies on APIs from service B. You want to test
changes to service A without deploying all of its dependencies, which includes service B. 

Which approach should you take to test service A? 

A. Test against production APIs. 

B. Test using API mocks. 

C. There is no need to explicitly test APIs. 

D. Test the APIs in private environments. 

Correct Answer: B 

Testing using API mocks Developers are frequently tasked with writing code that integrates with other system
components via APIs. Unfortunately, it might not always be desirable or even possible to actually access those systems
during development. There could be security, performance or maintenance issues that make them unavailable ? or they
might simply not have been developed yet. This is where mocking comes in: instead of developing code with actual
external dependencies in place, a mock of those dependencies is created and used instead. Depending on your
development needs this mock is made "intelligent" enough to allow you to make the calls you need and get similar
results back as you would from the actual component, thus enabling development to move forward without being
hindered by eventual unavailability of external systems you depend on 

 

QUESTION 2

Which Oracle Cloud Infrastructure (OCI) load balancer shape is used by default in OCI container Engineer for
Kubernetes? 

A. 400 Mbps 

B. 8000 Mbps 

C. There is no default. The shape has to be specified. 

D. 100 Mbps 

Correct Answer: D 

Specifying Alternative Load Balancer Shapes The shape of an Oracle Cloud Infrastructure load balancer specifies its
maximum total bandwidth (that is, ingress plus egress). By default, load balancers are created with a shape of
100Mbps. Other shapes are available, including 400Mbps and 8000Mbps. https://docs.cloud.oracle.com/en-
us/iaas/Content/ContEng/Tasks/contengcreatingloadbalancer.htm 

 

QUESTION 3

Which two are benefits of distributed systems? 

A. Privacy 
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B. Security 

C. Ease of testing 

D. Scalability 

E. Resiliency 

Correct Answer: DE 

distributed systems of native-cloud like functions that have a lot of benefit like Resiliency and availability Resiliency and
availability refers to the ability of a system to continue operating, despite the failure or suboptimal performance of some
of its components. In the case of Oracle Functions: The control plane is a set of components that manages function
definitions. The data plane is a set of components that executes functions in response to invocation requests. For
resiliency and high availability, both the control plane and data plane components are distributed across different
availability domains and fault domains in a region. If one of the domains ceases to be available, the components in the
remaining domains take over to ensure that function definition management and execution are not disrupted. When
functions are invoked, they run in the subnets specified for the application to which the functions belong. For resiliency
and high availability, best practice is to specify a regional subnet for an application (or alternatively, multiple AD- specific
subnets in different availability domains). If an availability domain specified for an application ceases to be available,
Oracle Functions runs functions in an alternative availability domain. Concurrency and Scalability Concurrency refers to
the ability of a system to run multiple operations in parallel using shared resources. Scalability refers to the ability of the
system to scale capacity (both up and down) to meet demand. In the case of Functions, when a function is invoked for
the first time, the function\\'s image is run as a container on an instance in a subnet associated with the application to
which the function belongs. When the function is executing inside the container, the function can read from and write to
other shared resources and services running in the same subnet (for example, Database as a Service). The function
can also read from and write to other shared resources (for example, Object Storage), and other Oracle Cloud Services.
If Oracle Functions receives multiple calls to a function that is currently executing inside a running container, Oracle
Functions automatically and seamlessly scales horizontally to serve all the incoming requests. Oracle Functions starts
multiple Docker containers, up to the limit specified for your tenancy. The default limit is 30 GB of RAM reserved for
function execution per availability domain, although you can request an increase to this limit. Provided the limit is not
exceeded, there is no difference in response time (latency) between functions executing on the different containers. 

 

QUESTION 4

You have been asked to create a stateful application deployed in Oracle Cloud Infrastructure (OCI) 

Container Engine for Kubernetes (OKE) that requires all of your worker nodes to mount and write data to 

persistent volumes. 

Which two OCI storage services should you use? 

A. Use OCI File Services as persistent volume. 

B. Use GlusterFS as persistent volume. 

C. Use OCI Block Volume backed persistent volume. 

D. Use open source storage solutions on top of OCI. 

E. Use OCI Object Storage as persistent volume. 

Correct Answer: AC 
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A PersistentVolume (PV) is a piece of storage in the cluster that has been provisioned by an administrator. PVs are
volume plugins like Volumes, but have a lifecycle independent of any individual Pod that uses the PV. A
PersistentVolumeClaim (PVC) is a request for storage by a user. It is similar to a Pod. Pods consume node resources
and PVCs consume PV resources. If you intend to create Kubernetes persistent volumes, sufficient block volume quota
must be available in each availability domain to meet the persistent volume claim. Persistent volume claims must
request a minimum of 50 gigabytes You can define and apply a persistent volume claim to your cluster, which in turn
creates a persistent volume that\\'s bound to the claim. A claim is a block storage volume in the underlying IaaS provider
that\\'s durable and offers persistent storage, enabling your data to remain intact, regardless of whether the containers
that the storage is connected to are terminated. With Oracle Cloud Infrastructure as the underlying IaaS provider, you
can provision persistent volume claims by attaching volumes from the Block Storage service. 

 

QUESTION 5

With the volume of communication that can happen between different components in cloud-native applications, it is vital
to not only test functionality, but also service resiliency. Which statement is true with regards to service resiliency? 

A. Resiliency is about recovering from failures without downtime or data loss. 

B. A goal of resiliency is not to bring a service to a functioning state after a failure. 

C. Resiliency testing can be only done in a test environment. 

D. Resiliency is about avoiding failures. 

Correct Answer: D 

Resiliency and Availability Resiliency and availability refers to the ability of a system to continue operating, despite the
failure or suboptimal performance of some of its components. In the case of Oracle Functions: The control plane is a set
of components that manages function definitions. The data plane is a set of components that executes functions in
response to invocation requests. For resiliency and high availability, both the control plane and data plane components
are distributed across different availability domains and fault domains in a region. If one of the domains ceases to be
available, the components in the remaining domains take over to ensure that function definition management and
execution are not disrupted. When functions are invoked, they run in the subnets specified for the application to which
the functions belong. For resiliency and high availability, best practice is to specify a regional subnet for an application
(or alternatively, multiple AD- specific subnets in different availability domains). If an availability domain specified for an
application ceases to be available, Oracle Functions runs functions in an alternative availability domain. 
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